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Surface area of a Square Pyramid 
 Name:____________________________                                                                                                                          Date:_____________________ 

Find the surface area of a square pyramid? (b=breadth, s=slant height). 

1) 

A = b2 + 2bs   

A =       

2) 

A = b2 + 2bs   

A =       

3) 

A = b2 + 2bs   

A =       

4) 

A = b2 + 2bs   

A =       

5) 

A = b2 + 2bs   

A =       

6) 

A = b2 + 2bs   

A =       

7) 

A = b2 + 2bs   

A =       

8) 

A = b2 + 2bs   

A =       

32 ft 
21 yd 

27 in 

18 cm 

24 mm 30 yd 
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Surface area of a Square Pyramid 
 Name:____________________________                                                                                                                          Date:_____________________ 

Find the surface area of a square pyramid? (b=breadth, s=slant height). 

1) 

A = b2 + 2bs   

A =       3776 ft2       

2) 

A = b2 + 2bs   

A =       1953 yd2       

3) 

A = b2 + 2bs   

A =       2619 in2       

4) 

A = b2 + 2bs   

A =       1044 cm2       

5) 

A = b2 + 2bs   

A =       3016 m2       

6) 

A = b2 + 2bs   

A =       1577 in2       

7) 

A = b2 + 2bs   

A =       2496 mm2       

8) 

A = b2 + 2bs   

A =       3540 yd2       

32 ft 
21 yd 

27 in 

18 cm 

24 mm 30 yd 


